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1. In Complex [CO(en),CI(NH,)]ICI, the “5 difim [CO(en),CI(NH ) ]CI, ¥R

co-ordination number of the metal ion PrfEes Tem 2
Is:
(A) 4
(A) 4
(8) 6 ® ¢
(©) 3 (C) 3

(D) 2 /}D) 2

2. According to Wemer's theory of Co- . R &R % AR (BOETe diftrs %)
ordination compounds: (A) —— srafa &1

(A) Primary Valency is lonisable
W srafa &
(B) Secondary Valency is lonisable (8) Raw

(C) Primary and Secondary Valency (C) s aur g Gdersa 3afa
are lonisable &)
. . d
(D) Neither Primary nor Secondary ©) T a8 N

Valency is Ionisable

3.  Which of the following is a tridentate 3. ®HW {Tﬁﬁz forite & -

ligand? (A) EDTA*
(A) EOTAY (B) (C00)*
® (COOLL (C) dien
o o,
4. Theliga;id N(CH,CH,NH,), is: 4 WBN(CH‘,CHJNHJ,Q;
(A) bidentate (A) TRz
(B) tridentate ®) i
(C) tetradentate © e
(D) pentadentate o e
3] P.TO.

304\A\2022
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5. Which of the following ligands form @ 5 gitz.qq Rt T &

chelate?

(A) odRe
(A) Acetate

(B) sifeaAT
(B) Oxalate

(C) wWia3s
(C) Cyanide
(D) Ammonia (D)

6. aia-wn Ptz sl A& &

6. Which of the following is not a neutral

ligand? (A) H,0
(A) H0
(B) NH,
(B) NH,
(C) ONO (C) ONO
(D) CO (D) CO
The magnitude of magnetic moment 7. [NiCl,]*" ¥ Jadhta avm (PHae Ra=) &1 o
(Spin only) of [NiCl,]?" will be: #:
(A) 2.82B.M. (A) 2.82 B.M.
(B) 3.25B.M. (B) 3.25B.M
C) 1.23B.M.
() (C) 1.23BM,
(D) 5.64 B.M,
(D) 5.64 B.M,
41A12022 (4]
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8. [PuNH,),J(C 2
JJLCUCL] and [Cu(NH ) ) 8. [Pt(NH,),l[CuCI,IﬁT[Cu{NH,)‘][pt(_;]

[PtC1,] are known as: .

(A) lomisation Isomerism (A) FANIOT FRIEaEA
(B} Co-ordination Isomerism i (8) WHGY wHTETAA

(C) Linkage Isomerism _AC) v woeraaan

(D) Polymerisation Isomerism (D) NEREZIYR uEgE

9. Which of the following complexes will g P8 % g Fftraaw sgr #

show maximum paramagnetism?

(A) 3d*
" (8) 3d5
(B) 3d°
© 3 (C) 38
(D) 3d’ (D) 3d’

10. The No. of unpaired electron in Ni(CO), 10. Ni(CO), # 3gfira gaagm= &

IS: (A) ™&®
(A) one ){.B} 2
B) two
(B) (C) &
(C) three
(D)
(D) zero
304\A12022 (5] P.T.0.
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11. The geometry possessed by Ni(CO), 1. Ni{CO].ﬂm'

(A) g (opBia)
(A) Tetrahedral
&p) ot wha
(B) Square planar
c) wha
(C) Linear ©
(D) Octahedral (D) FewiT

12. How many unpaired electrons are 12, [n{Hlo}G]ﬂﬁ:ggﬁﬂampg-

there in [ Ti(H,0), )*3-

(A) 2
(A) 2

(8) 1
(B) 1

(C) 4
(C) 4
(D) 3 (D) 3

13. Coloured complexes absorb radiation 13, M= difirs Bt W RfdRoT drgan ¢

-

from:
i (A) T R
(A) Ultraviolet region
(B) 3w fafason
(B) Infra-red region
) o fafasoy
(C) wvisible region o«
(D) None of these (D) 31 @ oY =

304\A\2022 (6]
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la,

15.

16.

[Co(NH,).Br]SO, can exhibit :
(A) Linkage iIsomensm

(B) lonization iIsomerism
(C) Optical isomensm

(D) Co-ordination isomerism

Stable complexes are formed by
hhgands which are:

(A) Less Acidic

(B) Less Basic

(C) More Acidic

(D) More Basic

The Effective Atomic Number of the
Central metal ion Fe in K [Fe(CN),] is:
(A) 36
(B) 35
(C) 26

(D) None of these

: [Co(NHl).Br]SO.?

(A) faps waTauaan
(B) TGa WWIE@gad
(C) v Twmagaa

(D) PRy awEaaT

. feritog grr vam difirs &= &

(A) B9 FAG
(B) &H &G
(C) s 3ng

(0) i el

. K,[Fe(CN),] & ¥ Or] 3= Fe =

T RO e # -
(A) 36

(8) 35

AC) 26

(D) &7 d o 18

https://www.dbrauonline.com



17. How many unpaired electrons are

18.

19.

there in [Ni(NH,) ]?*

(A) 2
(B) 1
(C) 3

(D) 4
The Effective Atomic Number of the
Central metal in [Cu(NH,),]** is:

(A) 35

(B) 36

(C) 29

(D) 30

Which one of the following is the

strongest ligand:
(A) CN°
(B) Br’
(C) OH~

(D) F

D4\A\2022

17.

18.

19.

[Ni(NH,),1>* & 3rgftea sdagk & -
(A) 2

(B) 1

(C) 3

(D) 4

difies [Cu(NH,),12* & ¥ arg sma= =
T oA HEm &

(A) 35

(B) 36

(C) 29

(D) 30

Prar & 3 2 va s &
(A) CN°

(B) Br

(C) OH

(D) F

https://www.dbrauonline.com



20. According to Lewis, Ligands are: 20. A ¥ sFyEr. frite t:

(A) Acidic in nature (A) b

(B) Basic in nature (B) amdra wpfy

(C) Neither acidic nor basic () =1 & sncha, T & el

(D) Some are acidic and other basic (D) gt swehva wpfer AR Ay i

¢ iR I
21. The colour of metal ion depends upon:  21. a1 A B 1 (BN 2

(A) The nature of the ligands (A) s |
(8) The number of ligands (8) forfs & ¥ W
(C) The shape of the complex 1 (C) 4 B TR
(D) Al of these (D) wft (FRww)
22. Uranium mainly used for: T2, gXPm yema: v & o e # -

(A) Nuclear energy @) T 55 & fre

(B) 3R> ¥
(B) Catalyst fre
(C) fwnis ¥
(C) Reagent five
(D) o & fap

(D) Metallurgy

304\A\2022 (9]
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23. Which one ligand is responsible for

inner-orbital complex ion?

(A) CN

(B) H,0

(C) F

(D) O

24. Which one Is correct?

(A) AG®=+nFE°

(B) AG®=-nFE®

(C) AGY=+nF/E°

(D) None of these

25. Which one is not found?

(A) Laol

(B) Ce*?

(C) La**

(D) Eu*?

304\A\2022 [10)
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2. wa-a Rritos sierd wavs 3o I &

24,

I #?

(A) ON

(B) H,0

€ F

(D) o

Lk

(A) AG®=+nFE®

% AG=-nFE°

5.

(C) AG®=+nF/E°

(D) & & 2
B v T o v &2
(A) La*?

(B) Ce*?

(C) La**

(D) Eu*?

_d__.. -



26. How many isotopes Sm has? 26. MSm&sf&H“mﬁag?
(A) 0 (A) 0
(8) 7 (B) 7
(C) 2 (C) 2
(D) 6 (D) 6

27. Complete the reaction: 27. s @ qof Bfwe :

La;0,+3CO; —? La,0; + 3C0; ——?

(A] Laz(col)} {A} L‘az(co])s

(8) La(OH), (8) La(OH),

(C) 2La (C) 2La

/B’ La(CO,),

8. femesRmaqid:

(D) La(CO,),

28. Brass is-an alloy of:

(A) Cuand Zn

https://www.dbrauonline.com

_JAY Cuand Zn
(B) Cuand Ni éB) Cu and Ni
(C) Ag and Cu (C) Ag and Cu
(D) Au and Cu (D) Au and Cu
59. The value of one Faraday Is equal to: 29 whREmmame.
(A) Charge of one mol electron (A) mmmmm
(B) Charge of one electron (B) o5 A 3 ImAw
(C) Charge of two mol electron (C) B vt gt a 3mAm
(D) None of these (D) ¥ A 3t =)
J0NA2022

P



30. Bauxite 1s an ore of . fﬂ),:i aramge g
|

(A) S (A) S&
(B) Al ) A
(C) Pb (C) Pbam
(D) Ba (D) Ba ™

31. InUO,C1,, the oxidation number of U is: 31. Uo,ClLAU # Imadator wam &2

(A) +2 (A) +2
(B) +3 (B) +3
(C) +4 (C) +4
(D) +6 (D) +6
32. Atomic number of Am is: 32. Am &1 RH] BHiS & -
(A) 94 (A) 94
(8) 95 (B) 95
(C) 96 (C) 96
(D) 97 (D) 97

33. Which one element is exist between 33. ThiRusduadhsaa Ruage

Th and U? (A) Np
(A) Np (B) Pa
(B) Pa (C) Pu
(C) Pu (D) Am
(D) Am

J04\A12022 [12)
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19

35.

36.

37.

Gd* ' 1on has colour:

(A) Colourtess

(B) Pink

(C) Light Yellow

(D) Green

Which one will not undergo ionisation?
(A) Pt{NH,).Cl,

(B) Pt(NH,),Cl,

(C) Pt(NH,)CI,

(D) Pt(NH,).CI,

IUPAC name of the complex K,[Fe(CN),]
1S:

(A) Potassium hexacyanoferrate (1)
(B) Potassium hexacyanoferrate (111)

(C) Potassium ferrocyanide
(D) Potassium ferricyanide
Heighest value of dielectric constant is

of:

(A) NH

(B) CH,COOH
(C) HO

(D) H,SO,

W\A\ZOZZ

34. Gd"mﬂmm!'

35.

&) o=

(B) T

(C) e Gen

(D) &

R mg== =@ @m?
(A) Pt(NH,),Cl,

(8) Pt(NH,).Cl,

(C) Pt(NH,).Cl,

(D) Pt(NH,).Cl,

36. K,[Fe(CN),] 31 IUPAC T ¢ :

37.

[13)

(A) i AT (1)

4B) deim drarEERe (111)

(C) dRfram WRravage
(D) dRfiraw ¥daraEe
it e Rerias g
(A) NH &

(B) CH COOH &

(C) H,0™

(D) H,SO,®

https://www.dbrauonline.com



38.

39.

40.

41.

304\A\2022

Which is not behave like both acid and
bases?

(A) H,0

(B) NH,

(C) so,

(D) Toluene

In SO, (liquid), K,SO, behave like:
(A) Acid

(B) Base

(C) Both (A) and (B)

(D) None of these

Which one is aprotic solvents?

(A) SO,

(8) HCI

(C) NH,

(D) H,0

Which one is not Lewis acid?

(A) BeCl,

(B) BF,

(C) AICI,

(D) NH,

https://www.dbrauonline.com

[14]

38.

41.

2 e 7w HR A B T TRR
o &2

(A) H,0

(B) NH,

(C) So,

(D) TrgéH

% SO, ¥ K,SO, Zjagr e & :
(A) I B RE

(B) &R & Tz

(C) 21 (A) au (B)

(D) ¥ A B &

i Remas & -

(A) SO,

(B) HCI

(C) NH,

(D) H,0

B wfw 3 A 27

(A) Becl,

(B) BF,

(C) AICI,

(D) NH,

—



2. CH ,COOH in lig NH behave like:

43

44,

45.

(A) Strong acid

(B) Weak acid

(C) Strong base

(D) weak base

Pitch Biend is a ore of:
(A) Ce

(B) Np

(C) U

(D) Fe

Naturally occuring actinide element is:
(A) Bk
(B) No
(C) U

(D) Ct

Highest abundance of which Lanthanide
IS on earth?

(A) Pr

(B) Ce

(C) Sm

(D) b

304\A\2022

2 v 3w e lig NH, 3 ¢

45.

(18]

(A) ser 30T

(8) g 3

(C) Wt &R

(D) g &m

o t:

(A) Ce

(B) Np

(C) U

(D) Fe

Wi ¥ | TR M aven ef¥ems aw &
(A) Bk

(B) No

(C) u

(D) Cf

R AWM5T e o wefftrs v Fven
&

(A) Pr

(B) Ce

(C) Sm

(D) +b

PY~

https://www.dbrauonline.com



46. Mow - .
Many  optical  somers 45 [Pt(Py)(NH,)CIBrINO,] T3 & By

[PX(Py)(NH,)C18rINO, | has s W §>
(A) 15 (A) 15
(8) 16 (B) 16
(C) 14 (C) 14
(O) 13 (D) 13
47. The formula of Chromyl chioride is: 47. PRTEEREE T IR :
(A) croq, (A) CroCy,
(8) cro,Cl, (8) croC,
(C) Cro,CI (C) cro,Cl
(©) ca, (D) cro,

48. Which one method is highly effective 46 U5 JuRmaRo Bt wariftrs wodh Rt 2

for Lanthanide Separation? (A) warsea oRada RfYy
(A) Valency change method (B) Fqaga
(B) Reduction

(C) 3ma= g fafy

(C) Ion exchange method

(D) 3maftazor

(D) Oxidation
304\A12022 (1)
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49,
out of these which one has r"ghest 49 m Az m m #ev & ! :

acidic strength:
CH,COON, CICH,coom, C1,CHCOOH
(A) C1,CHCOOH
(B) CICH,COOH
(C) CH,COOH
(D) Al have equal strength.
50. NaOH and NH,OH both in acetic acid
(solvent) behave like:
(A) Strong base
(B) Weak base
(C) Neutral
(D) Strong acid
51. Process Zn*?(aq.)+2e -» Zn(s) is:
(A) Redox
(B) Reduction
(C) Oxidation
(D) None of these

52. Oxidation number of oxygen in OF, is:
(A) -1
(B) -2
(C) +1

(D) +2
30412022

50.

51.

52.

(17)

CH COOM, CICH,COOH, CI,CHCOOH

(A) CI,CHCOOH

(B) CICH,COOH

(C) CH,COOH

(D) Tt o v wfes & &

NaOH 3R NH,0H 2Fii efefess sna Remas
¥ 5w 1R & ZeRR @ &

(A) vam &R

(B) T am

(C) TRl

(D) waa 30

B9 Zn*?(aq.)+2e - Zn(s) &I

(A) T

(B) WaEA

(C) FftaRm

(D) & A 3 @

OF, & 313 ) st e @141
(A) -1

(8) -2

(C) +1

(D) +2
P.TO.
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53. Oxidation number of Cr in Cr.0%" is: 53. Cr,02" % Cr & Fmaeiieor §3a1 #rh 3

(A) +4 (A) +4
(B) +5 (B) +5
(C) +6 (C) +6
(D) +7 (D) +7

54. Oxidation number of sulphur in H,S,0, 54, H,S,0, ¥ wews 2 FifereIoT e 2

is: https://www.dbrauonline.com

(A) +4
(A) +4
(B) +5
(B) +5
(C) +6 (C) +6
(D) +7 (D) +7
55. Electronic configuration of uranium is: 55. o & werFe R t
(A) [R,)5F6d'7s? (A) [R,]5f%6d'7s?
(B) [R,]5F6d'7s° (B) [R,]5F6d'7s°
(C) [R,15M6d°7s? (C) [R,)5/6d°7s2
(D) [R,)5f’6d°7s? (D) [R,)56d°7s?
56. ,,UP®+,n' o+  Np™? +A, A=? 56. LU+ 0! NP 4A A-?
(A) -1€° (A) -1e0
(8) +1€" (B) +1¢°
(CJ JHE‘ (C) JHE‘
CU (D) A
304\A12022 [18)
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$7.
Universai oxidation humber of actinides

Is:
(A) +2
(B) +3
(C) +4
(D) +5
58. Inner transition elements are also
called:
(A) d-block
(B) f-block
(C) p-block
(D) s-block
59. Lanthanide contraction is responsible
for:
(A) Similar radius of Zr-y
(B) Similar radius of Zr-2n
(C) Similar radius of Zr-Nb
(D) Similar radius of Zr-Hf
60. +4 oxidation number is of:
(A) L2
(B) Eu

(c) Gd

(D) Ce

57. eRRgEw A wdwea B Fam ¢
(A) +2
(B) +3
(C) +4
(D) +5
58. 3IRW HPAO Ay HEoTA & -
(A) d-wii®
(B) f-mifs
(C) p-wii®
(D) s-&f®
59. #VmEE Wgpe IR & -
g«,‘w Zra & TR Bem & e
(B) Zr-Zn & wum Bz & e
(C) Zr-Nb @ wm Bz & fee
yy Zr-Hf & wo= P & e
aou +4 iR gom &
A Lad
(B) Eu 3
(C) Gd &

(D) Ce®
PYO

[19]

304\A\2022
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61. Which one is an example of chelate 61.

complex?

(A) Chlorophyl

(B) Potassium Ferrocyanide

(C) Nickel Tetracarbonyl

(D) Diammine Silver Chlonde

62. Which one method is highly effective

for Lanthanide separation?

(A) Valency Change method

(B) Reduction

(C) lon Exchange method

(D) Oxidation

63. In Complex [Fe(CN)]* ", Fe*?is:

(A) Ligand

(B) lon (Negative)

(C) Base

(D) Acd
J4\A\2022

[20]

62.

Fh-a vz He difie & R >
(A) IR
(8) urfvam dRraraTEs
(C) Fida gt
(D) zHed= fher aviRTEE
A guaeRr B waffts o fo
2
(A) WS qitad fafy
(B) 3mEg=
(=g A faftera fRift
(D) 3maAtEoT
WPA [Fe(CN),)*, Fe*? &
(A) foritog
(B) TR (WOTHS)
(C) &R

(D) 3+

https://www.dbrauonline.com



64. Conjugate acid of H 0 is: 64. H,0 a1 wigel 3T &

() no (A) HO
(8) wa (B) HCI
(C) OH (C) OH
(D) H,0° (D) H,0"
65. Oxidation is process in which: 65. 3ifaRiauT U WP 2
(A) Addition of electron (A) 3o & am
(B) Removal of electron (B) 3®M & A
(C) Removal of oxygen (C) :ﬂ'mﬂﬁqfﬁlgm
(D) Addition of Hydrogen (D) FBZTH &1 am
66. Which concept says that "A Base 66. @t-a fagr o & fb o v wrd 2
donates oxide ion"? 3 s g da &2
(A) Lux-Flood (A) ®@9-908
(B) Lewis (B) qg-q
(C) Bronstead-Lowery (C) ARE-drd
(D) IR&fTw

(D) Arrhenius

67. Oxidation number of Clin Cl, is: 67. CI,% CI & smareraor vz vt #
(A) +1 (A) +1
8) -1 (B) -1
(c) 0 (C) O
(D) +2 (D) +2
[21) .

3041412022 _
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68.

69.

70.

71.

Epsam sait is:

(A) Naci

(B) MgSO,.7H,0

(C) CuSO..SH,O

(D) Na.S0,.10H,0

Which element is not related to Actinide
series?

(A) Cm

(B) Pu

(C) Ce

(D) Th

Impurities present in minerals are

called:

(A) Flux

(B) Alloy
(C) Gangue

(D) Slag

Colour of Cm*? ion is:
(A) Colourless

(B) Red

(C) Green

(D) Yellow

304\A\2022

70.

71.

gow oo &

(A) NacCl

(B) MgSO,.7H,0

(C) CuSO,.5H,0

(D) Na,SO,.10H,0

23-w1 o ofdeamgs doft & Tl &
(A) Cm

(B) Pu

_leY Ce

(D) Th
aF & Jofer el ) o= &
(A) TS

(8) fpmag

(C) 3murh

(D) awwer

Cm I A 2 .

(A) T

(B) am

(C) &

(D) @

https://www.dbrauonline.com



72. N
Umber of trans-uraniym elements Is:

73,

74.

75.

(A) 12

(B) g
(€) 10

(D) None of these

Sm3¢

(A) vb*2> sm*2 5,42
(B) Sm*25yb*2 5,2
(C) Euti>Sm*2>.ph*2
(D) Eu*?>yb*2 35m*2
64 atomic number is of:
(A) Gd

(8) Tb

(C) Dy

(D) Ho

First transition element is:

(A) S¢
(B) 7
(C) L2

304\A12022

. 10?*, Eu?* have reducing power:

72.

73.

74,

75.

(23)

R et oy e & -
(A) 12
(B) 9
(C) 10

(D) =% % o

Sm3+' sz*t Eu!ctﬁ K L[5 ) mﬁg ? .

(A) 1b*?> Sm*2 >Eu*?
(B) Sm*2>yb*? >Eu*?
(C) Eu*2>Sm*2 >yb*2
(D) Eu*?>yb*2 >Sm*2
TR TS 64 & :

(A) Gd=

(B) Tb&

(C) Dy®

(D) Homm

TR HER0 o -

(A) Sc

(B) v

(C) La

(D) Hg

https://www.dbrauonline.com



76.

77.

78.

79.

Which is the most abundant transition

element?’
(A) Al

(8) Cu
(C) A9
(D) Fe
Ferrous ions have oxidation number:
(A) +2

(8) +3

(C) Both (A) and (B)

(D) None of these

Prussian blue s :

(A) Potassium Ferrocyanide

(B) Ferric Ferrocyanide

(C) Ferric Sulphocyanide

(D) Sodium Nitroprusside
Effective atomic number [EAN] of Fe In
[Fe(COJ*] is:

(A) 0

(8) 4

(C) 28

(D) 36

304\A\2022

78.

79.

[24]

(B) +3

() i (A) 7 (B)
(D) dres & & 26 Tl
o= o

(A) GRram FATTRE
(8) Sfm BATE
(C) ¥R WEHRETES
(D) ehfdam ATRITANE
[Fe(CO),] & Fe o W qewo] R ]
(A) O

(B) 4

(C) 28

(D) 36
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8
0. pmd“ﬁhll:
80. AR

CUSO4 + 4NHOH .
CuSO. + 4NH.OH - A

(A) [Cu(NH,),1S0, (A) [Cu(NH,),]SO
(B) [Cu(NH,),S0,) (B) [Cu(NH,),S0,]
(C) cu (C)

u
(D) [Cu(NH,),] (D) [Cu(NH,),]

81. Inthereaction, HsN + BF, - H;N.BR 81. Ffufdar H;N + BR — H3N.BR, o

(A) H,Nis a Bronsted-Lowry acid (A) H,N v Aes A anar &)
(B) H,Nis a Lewis acid (B) H,N v 3w sper &)

(C) BF, is a Bronsted - Lowry acid (C) BF,o® AR o ane
(D) BF,is a Lewis acid (D) BF,ts e ane &1

82. In Hydrazoic acid, the oxidation 82, Wmﬁ , B

number of nitrogen Is: s d

(A) +1 (A) +1

() -1 (8) -1

(c) -1/3 (C) -1/3

(D) +1/3 (D) +1/3
304\A12022 (25)
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83,

85.

304\A12022

The oxidation no. of element may

have:

(A) Only positive value

(B) Only negative value

(C) Only whole number value

(D) Positive, negative, whole number

or a fractional number

. Which one is not a d-Block element?

(A) Y
(B) Zr
(C) As
(D) Nb
Equivalent weight of KMnO, in acidic

medium iS:

Molecular weight
(A) '

Molecular weight
(B) 3

Molecular weight
(C) 5

(D) Molecular weight

85.

[26)

R e 1 dhaon s A B2

(A) ¥a® GATEE

(B) X0 WUTHD

(C) ot v

(D) s, AT, got s s fim
<

2 e d-wis 1 T &7

(A) Y

(B) Zr

(C) As

(D) Nb

g Jeaw # KMnO, a1 ardiat MR @l

&

(A) ﬂ{“ﬁ

8) LT

© IT

(D) HU[ ¥R
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(C) Green

(D) None of these

B7. Last element of 4-d series js:

(A) Zn
(8) Cd
(C) Hg
(D) Au
88. Which one is Complex Compound?
(A) CuSO,.5H,0
(B) FeSO,(NH,),.6H,0
(C) K,S0,AI,(S0,),:24H.0

(D) [CotNH,), SO.INO;

304\A\2022

86. Cu,Cl a1 7n gren #

87.

(27

(A) Fren

(B) ™™

(C) &

(D) s A A B T

4a-d M maFmam t:

(A) Zn

() Cd

(C) Hg

(D) Au

- Afew diftvs 2

(A) CuSO,.5H,0

(B) FeSO,(NH,),.6H.0

(C) K,SO,AL(SO,),.24H O

(D) [Co(NH ) SO N
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89. C
Onjugate acid of a strong base is  gg T &R 3 wgfiva e A

always: (A) hm
(A) weak
(B) Neutral (B) s
(C) Strong (€) waa
(D) Amphoteric (D) Fvwami
90. Water (H,0) can act as: 90. aRR (H,0) fow wq A o1d ax Fan &>
(A) Both as Lewis acid and Lewis base fA) ¥ e qur M A
(B) Only Lewis acid (B) ¥aa e nen
(C) Only Lewis base (C) ¥am ¥fdw &R
(D) Only as electron pair acceptor (D) a0t s et Wt
91. Effective atomic number of metal in  91. [Ag(NH,),]CI %iga & T B TN G
Complex [Ag(NH,),]C! is: s ¢ -
(A) 11 (A) 11
(B) 22 (B) 22
(C) 33 (€) 2
(D) S0 (D) 50
92. Which one is different? %2 == fimds
(A) cr (A) Cr
(B) Pd (8) Pd
(€ v () u
(D) ta (D) La
304\A12022 [28)
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93.

94,

95.

304\A\2022

Wh
‘h one IS not of

€lement;

(A) 2n, ¢y o
(B) Mn, Ry, Re
(€) Ni, pg. Pt
(D) ¢y, Ag, Ay

{A) Aﬂ"lpefe
(B) Carat
(C) Tesla

(D) None of the above

enis a:

(A) Mono dentate ligand

(B) Bidentate ligand

(C) Tndentate ligand

(D) None of the above

Oxidation number of Cobalt in complex

[Co(NH,) BrCI]Cl is:

(A) -3
(B) +3

{C) +4

(D) -2

[29)

94,

95.

96.

Same group @ aﬂ?ﬂiﬁ'mﬂw&!?ﬁ??

(A) Zn, Cd, Hg

(B) Mn, Ry, Re

(C) Ni, Pd, Pt

(D) Cu, Ag, Au

W B e s ¢ -
(A) tho

4B) &e

(C) Twm

(D) 3R¥® & A Y
en B

(A) = Rrtos

(8) fe=h firtog

(C) Pr=h firitog

(D) IR A A B 8
[Co(NH,),BrCI]CI & S & 3iaedhaor
wem ¢

(A) -3

(B) +3

(C) +4

(D) -2
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97,

98.

100.

CrCl .6H 0 possesses which

Isomerism?
(A) lonisation
(B) Unkage
(C) Hydration

(D) Co-ordination position
Fe*? jon has Hybridization in complex
ion [Fe(H,0),]**:

(A) sp’d’

(B) sp’d’

(C) sp’d

(D) sp’

Which one is paramagnetic?
(A) [NI(CN),)*

(B) [NiCI,]?

(C) [NI(CO),]

(D) [Fe(CN),}*

Which one is square planar?
(A) [NI(CN),)*

(B) [NiCI,)?

(C) [N(CO),]

(D) All of the above

304\A\2022

97.

%

X
99.

100

(30)

CrC),.6H,0 ¥ a7 A wseramen &7

(A) R+

™

(C) Fewdhar

(D) owEwdIs Ruf
[Fe(H,0),]*? Wgm 1A= A Fe'! ¥aa

o &

/‘A) sp 1d2

(B) sp'd?

(C) sp'd

(D) sp’

B e -

&) [NI(CN),]?

(B) [NiC1)?

(C) [Ni(CO),]

(D) [Fe(CN),)*

PR o o - vl 2
(A) [NI(CN),)?

(B) [NICI)’
(C) [N{CO),]

(D) Judvs A A ,f

https://www.dbrauonline.com



